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*Main Productive Inclusion Question

Why Brazil has remained behind in terms of labor productivy?
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Main Obstacles to Innovation

R&D/GDP 2011-15

Figure 4.34: Finance As Most Important Reported Obstacle to Innovate, 2011

Not so low, but very inefective as is education
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*Productive Inclusion: Channels of Impact from Shared Productivity Policies
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Is there a gap?

(index: 1970 = 100)

PNAD real income grew 2

0 percentage points above GDP.
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Nota: Renda deflacionada com INPC; PIB com deflator implicito do PIB.
Fonte: Renda, Pesquisa Nacional por Amostra de Domicilios (PNAD/IBGE); PIB, Sistema de Contas Nacionais (SCN/IBGE).
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How much did it grow? Nominal Labor Income National Accounts

X Nominal Labor Income PNAD

Real Per Capita 2003 = 100
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wth Gaps Between 2003 and 2013

Annual
Growth

1.9%

In Real Terms
Gap (HH Income per capita (PNAD) — GDP)

Gap Labor Cost (PNAD) - Labor Productivity (GDP per Worker) 2.0%

What explains the 2" Gap?
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Nota: Renda deflacionada com IPCA; PIB com deflator implicito do PIB.
Source: Pesquisa Nacional por Amostra de Domicilios (PNAD/IBGE); Sistema de Contas Nacionais (SCN/IBGE).
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